
CBT ONLINE EXAM 2023 CLASS XII Geography 

1. Consider the following statements and choose the correct option. 

1. Human development Index created by Amartya Sen. 

2. Human poverty Index is related to human development  

3. A value closer to shows lower human development on the HDI 

A) 1 and 2 

B)  1,2 and 3 

C) C) only 2 

D) D) only 

ANS.   C. only 2 

2. Read both the statements 1 and 2 and choose the correct option. 

Statement 1. An uneducated child can not make the choice to be a Doctor  

Statement 2. His/ her choice has got limited by his/her lack of education  

A) only 1 is correct 

B) B) Only 2 is correct 

C) C) Both correct 

D) D) Both statements are correct and statement 2 explains statement 1. 

ANS.   D. Both statements are correct and statement 2 explains statement 1. 

3.  Assertion (A) Nomadic Harding is practiced vast horizontal as well as vertical distance  

Reason (R) Nomads migrate from plain to high altitude pastures during winter season from high altitude 

pastures to plain during summer season  

A) Both A and R are true and R is the correct explanation of A 

B) B) Both a and R are true but R is not correct explanation of A 

C) C) A is true but R is false 

D) D) A is false but R is true 

ANS.   C. A is true but R is false 

 Read the following passage carefully and answer the question that follows. 

The existence of a market for manufactured goods is the most important factor in the location of industries. 

Market  means people who have a demand for these goods and also have the purchasing power to be able 

to purchase from the seller at a place .Remote area inhabited by a few people offer small markets. The 

developed regions of Europe , North America , Japan and  Australia provide large global markets as the 

purchasing power of the people is very high . The densely populated regions of South and South East Asia 

also provide large markets . Some industries ,such as aircraft manufacturing ,have a global market . The 

arms industry also has global markets. 

   Labour supply is an important factor in the location of the industries . Some types of manufacturing still 

require skilled labour . Increasing mechanization ,automation and flexibility of industrial processes have 

reduced the dependence of industry upon the labours. Speedy and efficient transport facilities to carry raw 

materials to the factory and to move finished goods to the market are essential for the development of 

industries. The cost of transport plays an important role in the location of industrial units . Western Europe 

and eastern North America have a highly developed transport system which has always induced the 

concentration of industries in these areas. Modern industry is inseparably tied to transportation system. 

improvement in transportation lets to integrated economic development and regional specialization in 

manufacturing. 

   4. ------------ means people who have a demand for these goods and also have the purchasing power to 

able to purchase from the --------------------- at a place.  

 

A) Market and sellers 

B) B) Shop and consumer 

C) C) credit and borrowing 

D) D) none of these 

ANS.   A Market and sellers 



5. Which one  geographical  factor from the following is  influence the industries?  

A) Publicity, Banking 

B) Laour, Capital 

C) Raw material, Climate 

D) Transport, Market 

ANS.   C. Raw material, Climate 

6. Which of the following industry has the global market? 

A) Textile 

B) Chemical 

C) Tea 

D) all the above 

ANS.   D. all the above 

7. Which one of the following industry do not depend on any specific raw material and can be located at 

various places? 

A) Weight losing industries 

B) Footloose Industry 

C. Weight gaining industry 

d. Joint sector Industry 

ANS.   B. Footloose Industry  

8. Arrange the following states in sequence as per their position in the position of wheat. 

1. Utter Pradesh  

2. Madhya Pradesh  

3. Punjab 

4. Haryana  

A) 1,2,3 and 4 

B) B) 3,2,4,and 1 

C) C) 4,3,2 and 1 

D) D) 2, 4, 3 and 1 

ANS.   A. 1,2,3 and 4 

9. Assertion (A): In rural settlement social relation among the people are strong in comparison to urban 

settlement.  

Reason (R): in rural settlement people have less mobiles.  

A) Both A and R are true and R is the correct explanation of A 

B) B) Both a and R are true but R is not correct explanation of A 

C) C) A is true but R is false 

D) D. Joint sector Industry 

E) ANS.   A. 1,2,3 and 4 

ANS.   A. Both A and R are true and R is the correct explanation of A 

10. Ganga, Brahmaputra and Barak revisers account for ------%  of total surface water resources of India?  

A) 68% 

B) 75% 



C) 12% 

D) 60 % 

ANS.   D. 60 % 

 


